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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘W' can
be represented by 41, 57, etc., and ‘K’ can be represented by 32, 65, etc
Similarly, you have to identify the set for the word “MOUNT”

U Qe Had TH GEA-UHE aR1 aAfar R R, St e Rwedt # @
ot v & Rm arar ) fweul # B v dwar-wag 3Rt & o aat
gRT gifw arw §, Skr @5 KU a1w oF gl & R Ingpl F FaEA AR
ufh 1 Gt 0 A 4 § 3R YEN A 5 A 91 39 Y F UH MR
F Ugel sah df 3R A A TAEH TTAT GRT AT ST THhaT B
3GIRROT & U ‘W' @t 41, 57, INTG gRT GRIGT ST Ahal & adr ‘K &
32, 65, 3Nfg gRT gFAT ST @har ¥ W e @ UM uA H BU A
“MOUNT” & fow Tofg = ugamEar ¢l

Matrix-I Matrix-ll

- el
0(1]2]|3)|4 516(7(8]|9
O|lA(L|T|Z|E S|ICIM|W|F|P
1IG|DIN|V|C 6 KIUID|N|X
2|/0(1|F[P|X 7(RIS|B|L|V
3|U|Q|K[H|R 8|G|IQ(A|J|T
4| Y|IW[S|M|J 9|E|O|[Y|H|R

Options:
1) 56, 20, 66, 69, 03

2) 43,21, 66,12, 03
3) 56, 96, 31, 68, 04

4) 43,96, 66, 12, 02
Correct Answer: 43, 96, 66, 12, 02
Candidate Answer: 43, 96, 66, 12, 02

QID : 204 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% IR AP A ¥ 3§ W HPA F AT
o & uy gl BT &

L
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Options:

1)

4

X129 11X I

Correct Answer:

A

Candidate Answer:

A

QID : 205 -

Which answer figure will complete the pattern in the
question figure?

Hd W A APl UH HPd & URdTT H QU
HLf?

Az
=%

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

Options:

1)

ﬁ

2)

-/

3)

%
1)

Correct Answer:

\\

Candidate Answer:

S

QID : 206 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

ofE mF 9T F AB X1 WX @ AW, at & T8
TR HEAAT A T Bl O gl oy gl H
Tgr ufafasa aef?
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Options:

1)

ES

Correct Answer:

Candidate Answer:

QID : 207 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & Uy gl # RREm 3wgar Fee @
A Ded JUT Gheld & dIg ag hd 3R A
s TS gam?

S K
2
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Options:

1)

4

o o

Correct Answer:

o o]
o O

Candidate Answer:

o o]
o 0

QID : 208 - By interchanging which two signs the equation will be correct?
11+13-39x3+6=6
fr 2} gt ot ooy & TRER Fee IR gteR<or T8 gt sirgm?

11+13-39x3+6=6

Options:

1) xand +

X dd1 +

2) xand +

X a1 +

3)+and -

+da1 -

4)+and +

+qAT+

Correct Answer: + and —
+=d41 -

Candidate Answer: [ NOT ANSWERED |

QID:209-1f9#3@2=10and11#4@1=14,then9#6@9="?

A 9#3@2=10TM11#4@1=148,A9#6@9=2
Options:

Correct Answer: 6
Candidate Answer: 6
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QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Grapes
2. Grown
3. Giggle
4. Ginger
5. Gasp

frfafaa sreal ot eregerier & o atet o & SIgER |

1. Grapes
2. Grown
3. Giggle
4. Ginger
5. Gasp

Options:
1) 51234

2) 53142
3) 53421

4) 53412
Correct Answer: 53412
Candidate Answer: 53142

QID : 211 - In the following question,select the missing number from the given alternatives.
8,15, 24,7,48, 63
Frfafea w7 Ry Y fenedt & @ g ofcs 31 AifSiq)

8,15, 24,7,48,63
Options:

1)35

2) 37

3)34

4) 38

Correct Answer: 35
Candidate Answer: 35

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
O,PRU,Y,?
Ten 1eRd foar T 8, Fored € Uk ue g &1 iy 1Y faehedt A © g wel fdened gg, St SigehA &l gy el

O,RRU,Y,?
Options:
1HA

2)D

3)z

4)C
Correct Answer: D
Candidate Answer: D

QID : 213 - In the following question, select the odd word from the given alternatives.

At wer 7 Ry g feredt 7 & fowm sreg @t gl
Options:
1) Leaves

2) Tree
g&r

3) Roots
e

4) .Trunk
GEIl

Correct Answer: Tree

g&l

Candidate Answer: Tree

g&r

QID : 214 - In the following question, select the odd number pair from the given alternatives.

frfafea usr A Ry g Rrereat & @ fowm g gm @t il
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1)37:23
2) 46:24
3)93:27

4)28:16
Correct Answer: 37 : 23
Candidate Answer: 37 : 23

QID : 215 - In the following question, select the odd letters from the given alternatives.

frafafeEa v & Ry o Revedt & @ fww s1eri a0t gfml
Options:
1) JLK

2) PRQ

3) XYz

4) BDC

Correct Answer: XYZ

Candidate Answer: XYZ

QID : 216 - Identify the diagram that best represents the relationship among the given classes.
Males, Trees, Politicians

Ig IIRE gAY 7 A R4y 71Q a1 & offer o Seier o agt FAeuor e g1

Options:
1)

O
e

w
~

g

o5

Correct Answer:

o5

Candidate Answer:

o5

QID : 217 - In the following question, select the related word from the given alternatives.
Judge : Hearing : : General : ?

ffafEa vy F Ry e et & @ il e @t gl

aranefier : goaTs : : SR 1 ?
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Options:
1) Results
gRoTH

2) Initiate
SR AT
3) Operates
gRanferd AT

4) Commands
3TRLT AT

Correct Answer: Commands
3T AT

Candidate Answer: Commands

ST AT

QID : 218 - In the following question, select the related number from the given alternatives.
14:63::28:?

At wer 7 Ry Qg feredt # & Hefda Jw=n &t gihgl

14:63::28:?

Options:
1) 148

2) 142
3)134

4) 126
Correct Answer: 126
Candidate Answer: 126

QID : 219 - In the following question, select the related letters from the given alternatives.
PEN:OCK::SUN:?
frfafEa uer & Ry g fereat & @ Tefda sreri &t gl

PEN:OCK::SUN:?

Options:
1) QSK

2) RTK
3) RSK

4) QTK
Correct Answer: RSK
Candidate Answer: RSK

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.
MICROSOFT
ffafEa e 7 @ g8 e gfw St Ry 7y 21eg & 31eRl T TR sheh 8T ST S GehaT |

MICROSOFT
Options:

1) RAFT

2) RIFT

3) MOIST

4) SOFT
Correct Answer: RAFT
Candidate Answer: RAFT

QID : 221 - Pointing to a lady, Ravi said, "She is the only daughter of my mother’s husband". How is the lady related to Ravi?

e AfgeT Y 3R Hehd e gY, A 7 g, "a8 B 71T & afd Y geRnr gEft 81 o wfger I & fohe nenR wefaa 82
Options:

1) Sister

Eral

2) Mother

AT

3) Wife

et

4) Grandmother
EE

Correct Answer: Sister
CERl

Candidate Answer: Sister
EGR
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QID : 222 - Saba remembers her examinations starts after 209th March, while her father remembers that her examinations starts before 31the March. On which date of
March does her examinations start?

a1 Y TS, § o IThY udter 29 AT & 918 3R g1 @Y & Stafeh 39 fUar &t are § s ST wsien 31 A @ uget SR 81 8 &1 T udtenm A Fi fohay fafd &Y amRer &2
Options:

1) 29

2) 30

3) 31

4) 28
Correct Answer: 30
Candidate Answer: 30

QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. Some pencils are cups.
Il. Some cups are chairs.

Conclusions:
I. Some chairs are cups.
Il. Some chairs are pencils.

12 g 1 st A o Sy ok I a1 I el R SR g ey g g €, grerifen 3T wrr I1d a2t @ e gt wedt g1 et ey ug ofk fiRk freifa R R Ry g @
@ e, faw g el & SR wR gReETd &1

hY:
|. 3® iR AU &l
Il. T U FHRYAT &
forsepef:
|. 3o FFar wu gl
1. T HRAar ofde &1
Options:
1) Only conclusion (1) follows.
e feeny (1) Tt 21
2) Only conclusion (Il) follows.
haet et (1) T& 21
3) Both conclusi%n follow.
I
4) Neither conclusion (I) nor conclusion (Il) follows.

Tt frsem (1) 7 & Fem (1) 5 21

Correct Answer: Only conclusion (I) follows.

et P (1) @) 21

Candidate Answer: Only conclusion (1) follows.

e Frsen (1) T 1

QID : 224 - In a certain code language, "LEAD" is written as "NHEI". How is "IRON" written in that code language?

e fAfe e wmar &, "LEAD" &t "NHEI" forar ST & | 39 i o1 § "IRON" ot fohg UrepR forar siraem?

Options:
1) KUSS

2) KUST
3) KVSS

4) MUST
Correct Answer: KUSS
Candidate Answer: KUSS

QID : 225 - In a certain code language, "GOAT" is written as "7612" and "RUNS" is written as "93510". How is "BOYS" written in that code language?

Uk fAfre s 9o 3, "GOAT" &t "7612" auT "RUNS" bl "93510" foaT ST &1 39 ahis o1 & "BOYS" @ fhg UrepR fora Straem?

Options:
1) 26710

2) 26701
3) 25710

4) 26810
Correct Answer: 26710
Candidate Answer: 26810

QID : 226 - How many positive factors of 160 are there?
160 & fohe eFTees quTfen gl &7
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Options:
1)12

2)6
3)24

4)16
Correct Answer: 12

Candidate Answer: 16

QID : 227 - How many times the digit 6 appears in the number from 11 to 100?

11 ¥ 100 Tk & G2T § 37k 6 fohe =il IR 37maT 87

Options:
1)17

2)18
3)19

4) 20
Correct Answer: 19

Candidate Answer: 18

QID : 228 -
What is the value of J256 +4/10.247?

256 +10.24 &1 T FT &2

Options:
1)16.2

2)17.2
3)19.2

4)18.4
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Correct Answer: 19.2

Candidate Answer: 19.2

QID : 229 - If 487P is divisible by 4, then what is the value of P?
Tfe 487P, 4 & S &, @ P ot A R 82

Options:
1)2

2)4

3)2o0r6

23716

46

Correct Answer: 2 or 6

23716

Candidate Answer: 2 or 6

23716

QID : 230 - What is the value of (1/2) + (1/6) + (1/12) + (1/20)?

(1/2) + (1/6) + (1/12) + (1/20) 1 A7 1 &2

Options:
1) 2/5

2) 4/5
3)3/5
4)1/5
Correct Answer: 4/5

Candidate Answer: 4/5

QID : 231 - Which of the following is not a perfect cube?
frafafEa 5 @ & g gof o7 781 82
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Options:
1) 1024

2)729
3)216

4) 1000
Correct Answer: 1024

Candidate Answer: 1024

QID : 232 - A pipe can fill a tank in 10 hours but due to leakage it is filled in 15 hours. If the tank is full then, how much time will the leakage take to empty it?
Teh e Ueh &ht hl 10 € & ¥R HendT & U Uah % g1 Y aote O I8 15 6 & o of1aT 81 i Eht gt kg ot &Y, ot Rerma @ 39 @reft g & fonaan g am?

Options:
1) 20

2) 30
3)35
4) 25
Correct Answer: 30

Candidate Answer: 30

QID : 233 - A tank has a leak at bottom which would empty it in 20 hours. A tap is turned on which fills 5 litres an hour into the tank then it is emptied in 30 hours. How
many litres does the tank hold?

Teh Y I e B Uep 3% 8, fSadh swor urit & gt ot &t 20 =2 F w@ref) gt Sirelt &1 5 oftex ufay 6 Y YR @ SR F uret 9k arelt Ues e are foRa Sirar 8, @t Eht ant et 8 5 30
e A &1 Eht B fohamt offex urht o1 I Tehart 872

Options:
1) 300

2) 150
3) 200
4) 250
Correct Answer: 300

Candidate Answer: 300
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QID : 234 - What is the area of a rhombus having one side as 20 cm and one diagonal as 24 cm?

Y GHAHST T &hel T § foIeehl Tah o1 20 |+, § a1 ges faenof 24 34T 872

Options:
1) 384

2)192

3)96

4) 198

Correct Answer: 384

Candidate Answer: 192

QID : 235 - Marked price of an article is 35% more than its cost price. If 20% discount is given, then what will be the profit percentage?

e % T Sifchd Hed S o 4o § 35% 31fdes &1 af 20% & e & S, &t @ms a1 ufdsid om ghm?

Options:
1)8

2)15
3)6

4) 11
Correct Answer: 8

Candidate Answer: 15

QID : 236 - Two successive discounts of 25% and 20% are given. What will be the net discount (in percentage)?

25% TUT 20% ST &l hives Fe & STt 51 faet (e) Fe (ufaera #) om ghf?

Options:
1)43.5

2)42.5
3)45

4) 40
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Correct Answer: 40

Candidate Answer: 40

QID:237-I1fA:B=3:7,B:C=4:5and C:D =7:6. What is the value of A: D?

gREA:B=3:7,B:C=4:5qqC:D=7:681 A:DHmTAH ATEI

Options:
1)2:5

2)3:7
3)4:7

4)3:5

Correct Answer: 2: 5

Candidate Answer: 2 : 5

QID : 238 - In what ratio two types of sugar costing Rs 40/kg and Rs 30/kg should be mixed to obtain a mixture of Rs 33/kg.

40 %/fe.7m a1 30 ¥/ foR.7m areht =i+t fore srura & fiye € S1Tg ok 33 /.71 arer fvsror U gt Srg?

Options:
1)7:3

2)3:7
3)5:3

4)3:5

Correct Answer: 3 :7

Candidate Answer: 3 :7

QID : 239 - Average of 8 consecutive numbers is 26.5. Which is the largest number out of these 8?

8 ShATTd TeT3il bt 3 d 26.5 &1 39 8 & ¥ Tad o<t U=t i It 87
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Options:
1) 42

2)30
3)32

4) 38
Correct Answer: 30

Candidate Answer: 30

QID : 240 - If the selling price of 20 articles is equal to the cost price of 40 articles, then what is the profit percent?

T 20 aegait o1 fAeha T 40 agail o v e & SRTeR 8, At A ufdvrd R 82

Options:
1) 50

2)100
3) 200

4)75
Correct Answer: 100

Candidate Answer: 100

QID : 241 - A shopkeeper buys an article for Rs 8000. For how much should he sell (in Rs) it so as to gain a profit of 20%?

Ueh GaMER ek a5 8000 & H WigdT g1 20% &1 T &het & forg I8 ag fohat (3 ) ararft @nfge?

Options:
1) 9600

2) 9200
3) 10000

4) 8800

Correct Answer: 9600
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Candidate Answer: 9600

QID : 242 - The difference between 62% and 47% of a number is 720. What is the 43% of the number?

Teh TRET & 62% TUT 47% ThT 3R 720 & | AT T 43% T 872

Options:
1) 2250

2) 2064
3)2184

4) 2280
Correct Answer: 2064

Candidate Answer: 2064

QID : 243 - If the side of a cube increases by 5%,then what is the percentage increase in the volume of the cube?

T fonelt a1 T 7St H 5% & gfeg 1 ST 8, a8 o STad # fohaw wfderd & gfg g2

Options:
1)15

2)10
3)10.25

4) 15.76
Correct Answer: 15.76

Candidate Answer: 10.25

QID : 244 - Ashish covers 2/7 of the total distance by train and the remaining 75 km by bus. What is his total journey (in km)?

ST STU e AT T 2/7 AT [WATET GRT AT el 51 AW 75 o . gt a8 998 gRT a7 el &1 ITeh! Tt I (R Y. H) et 82
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Options:
1) 105

2)175

3)95

4)125

Correct Answer: 105

Candidate Answer: 175

QID : 245 - A man can row 4 km/hr in still water. If the speed of the current is 1 km/hr, he takes 4 hours more in upstream than in the downstream. What is the
distance (in km)?

<Tid ST H Qeh eafch &t i 4 3.7 /der §1 afe ey &t 1fer 1 .. /eiet &, o1 & Srgepet e # 59 ox SR A a1 9a Tl &, S 4 € 317 §a 4R & fige feem & Ia-ft g
T Fa A F erar 81 g (.. ) s 82

Options:
1)15

2)30
3)45

4) 42
Correct Answer: 30

Candidate Answer: 45

QID : 246 - An amount of Rs 15000 is invested in a scheme of compound interest. If rate of interest is 10% per annum, then what is the amount (in Rs) obtained after
3 years?

15000 & T Gah 1A T Tehgieg sATS aTell Yep Aot A fHasr fomar | af &amet &x 10% ufa ay g, at 3 af &g foreit iR (3 ) v gifi?

Options:
1) 17365

2) 18150
3) 19965

4)20140

Correct Answer: 19965
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Candidate Answer: 19965

QID : 247 -

The pie chart given below shows the breakup of

monthly expenditure of a family. The monthly income of
the family is Rs 80000.

#r e 7w g9 RF # & RER & A1fds @7 &
T 3T g1 9REr $r Ffds 3T 80000F g

What is the monthly expenditure (in Rs) on fuel?

$eF WR gIA arelt A1 2 (¥ H) fohamr 82

Options:
1) 15000

2) 9600
3) 13600

4) 12400
Correct Answer: 13600

Candidate Answer: 13600
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The pie chart given below shows the breakup of
monthly expenditure of a family. The monthly income of
the family is Rs 80000.

#r fw 7w g9 Ry # ™ RER & a1fds @7 #+r
Zamar 3T g1 9@ $r A 3T 80000 F g

What is the difference (in Rs) in monthly expenditure on clothes and food?

HUS! AUT WS TR g1 dTet ATk g T 37cR (3 §) 1 8?

Options:
1) 1600

2) 4800
3) 6000

4) 6400
Correct Answer: 4800

Candidate Answer: 4800
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The pie chart given below shows the breakup of
monthly expenditure of a family. The monthly income of
the family is Rs 80000.

#r e 7w g9 Ry # ™ NaER & A1fds @7 #+r
AT 3T g1 9@ $r Al 3T 80000 F g

What are the yearly savings (in Rs) of the family?
gRaR &t a1fies s=a (T ) fhait 82

Options:
1) 126000

2) 72000
3) 108000

4) 144000
Correct Answer: 144000

Candidate Answer: 72000
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QID : 250 -
The pie chart given below shows the breakup of

monthly expenditure of a family. The monthly income of
the family is Rs 80000.

@ R av g o # s 9Rear & #fds @wa &
Zamar 3T g1 9RErR i A 3T 80000 F 2

20% out of expenditure on education is spent on pens. What is the monthly expenditure (in Rs) on pens?

fR1em o s & & 20% 7 el U foham T &1 Shetdl WR E1F atent J1feh 7 (% H) fohdar 82

Options:
1) 2880

2) 3160
3) 3240

4) 2970
Correct Answer: 2880

Candidate Answer: 2880

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Wednesday, a working day, (1)/ may proved to be troublesome (2)/ tough as thousands hit the roads. (3)/ No Error (4)

Options:
1)1

2)2
3)3

4)4
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

China is also a (1)/ buyer of American Crude (2)/ oil who has been exported. (3)/ No Error (4)
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ptions:

1)1

2)2

3)3

4)4
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The Security Guard prevented us entering the hotel.

Options:
1) from

2) against
3) for

4) on
Correct Answer: from
Candidate Answer: [ NOT ANSWERED |

QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Rohan is tall as his elder brother Rohit.

Options:
1) much

2) more

3) too

4) as

Correct Answer: as
Candidate Answer: too

QID : 255 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Lament

Options:
1) Enlighten

2) Chatter
3) Mourn

4) Rejoice
Correct Answer: Mourn
Candidate Answer: [ NOT ANSWERED ]

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Authentic

Options:
1) Certain
2) Dubious
3) Brave
4) Rude

Correct Answer: Certain
Candidate Answer: [ NOT ANSWERED ]

QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Eradicate

Options:
1) Uncivil

2) Uproot
3) Cultivate

4) Inaction
Correct Answer: Uproot
Candidate Answer: [ NOT ANSWERED |
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QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Betrayal

Options:

1) Tricky

2) Deceive
3) Stand by
4) Bluff

Correct Answer: Stand by
Candidate Answer: [ NOT ANSWERED ]

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Gracious

Options:
1) Kind

2) Benign

3) Civil

4) Miserable

Correct Answer: Miserable

Candidate Answer: [ NOT ANSWERED ]

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Lavish

Options:
1) Wild

2) Scarce
3) Posh

4) Liberal
Correct Answer: Scarce
Candidate Answer: [ NOT ANSWERED ]

QID : 261 - In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Through thick and thin.

Options:
1) Under all circumstances

2) Thinking entire day
3) To keep on losing or gaining weight

4) To think advantage and disadvantages of something
Correct Answer: Under all circumstances
Candidate Answer: [ NOT ANSWERED ]

QID : 262 - In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Turned a blind eye.

Options:
1) Not able to see clearly

2) Feeling dizzy
3) Pretended not to notice

4) Playing hide and seek
Correct Answer: Pretended not to notice
Candidate Answer: [ NOT ANSWERED ]

QID : 263 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

Ram as well as his friends (are) coming for lunch.

Options:

1) have

2)is

3) are not

4) No improvement
Correct Answer: is

Candidate Answer: [ NOT ANSWERED ]
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QID : 264 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".
Either the teacher or the students (has) gone to eat lunch.
Options:
1) have
2)is
3) might has

4) No improvement
Correct Answer: have
Candidate Answer: [ NOT ANSWERED |

QID : 265 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Having no hair on the scalp.

Options:
1) Babble

2) Bogus
3) Boggle

4) Bald
Correct Answer: Bald
Candidate Answer: [ NOT ANSWERED |

QID : 266 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Lover of books.

Options:
1) Paedophile

2) Electrophile
3) Bibliophile

4) Foodophile
Correct Answer: Bibliophile
Candidate Answer: [ NOT ANSWERED |

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Algibra

2) Algebra
3) Elegebra

4) Alegebra
Correct Answer: Algebra
Candidate Answer: Alegebra

QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Difference

2) Deffirence
3) Differance

4) Defference
Correct Answer: Difference
Candidate Answer: Differance

QID : 269 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

The backbone

P: agriculture; which also provides

Q: sustenance to over half the country’s population
R: of the rural economy is
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Options:
1) RPQ

2) PRQ
3)RQP

4) QPR
Correct Answer: RPQ
Candidate Answer: [ NOT ANSWERED ]

QID : 270 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

When we

P: talk of investing in education,

Q: a question arises as to what kind of education
R: needs to be given to the youngster.

Options:
1) PRQ

2) PQR
3) RQP

4) QPR
Correct Answer: PQR
Candidate Answer: [ NOT ANSWERED ]

QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

'Entertainment’ implies non-participation by the . A football match may be entertainment to the spectators, but it is a to the players, and when we
think of entertainment, we must , 'activities' such as indoor games, card playing, dice, tenpin bowling, even amateur theatricals, because the point of all
these is that we are providing our amusement. To be 'entertained’, we must be content to look, and to

'Entertainment’ implies non-participation by the

Options:

1) listeners

2) Artist

3) performe

4) Performer

Correct Answer: performe

Candidate Answer: Performer

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

'Entertainment’ implies non-participation by the . A football match may be entertainment to the spectators, but it is a to the players, and when we
think of entertainment, we must , 'activities' such as indoor games, card playing, dice, tenpin bowling, even amateur theatricals, because the point of all
these is that we are providing our amusement. To be 'entertained’, we must be content to look, and to

be entertainment to the spectators, but it is a

Options:

1) bore

2) sport

3) entertainment

4) fun

Correct Answer: sport

Candidate Answer: [ NOT ANSWERED ]

QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

'Entertainment’ implies non-participation by the . A football match may be entertainment to the spectators, but it is a to the players, and when we
think of entertainment, we must , 'activities' such as indoor games, card playing, dice, tenpin bowling, even amateur theatricals, because the point of all
these is that we are providing our amusement. To be 'entertained’, we must be content to look, and to .

entertainment, we must ,
Options:

1) Exclude

2) among

3) expell

4) between

Correct Answer: Exclude

Candidate Answer: [ NOT ANSWERED ]
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QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

‘Entertainment’ implies non-participation by the . A football match may be entertainment to the spectators, but it is a to the players, and when we

think of entertainment, we must , 'activities' such as indoor games, card playing, dice, tenpin bowling, even amateur theatricals, because the point of all
these is that we are providing our amusement. To be 'entertained’, we must be content to look, and to

our amusement.

Options:
1) exclusive

2) Choice
3) Own

4) Preferred
Correct Answer: Own
Candidate Answer: Choice

QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

'Entertainment’ implies non-participation by the . A football match may be entertainment to the spectators, but it is a to the players, and when we
think of entertainment, we must , 'activities' such as indoor games, card playing, dice, tenpin bowling, even amateur theatricals, because the point of all
these is that we are providing our amusement. To be 'entertained’, we must be content to look, and to

we must be content to look, and to

Options:
1) hear

2) See
3) Ignore

4) Listen
Correct Answer: Listen
Candidate Answer: Listen

QID : 276 - When people are engaged in production of goods and services they are said to be engaged in .

ST T gl T aredl & ST A A gl 6 a9 S5 A 4% g g o

Options:

1) Business

E:Enin

2) Economic activities

3) Work

Eap

4) Manufacturing
fafamfor

Correct Answer: Economic activities

Candidate Answer: Economic activities

QID : 277 - What is the record of all economic transactions of a country in a particular period called?

fonelt 21 <Y Ten AT orafd & g9 areht waft anffer @93 & srf¥ieia et T gt &7
Options:
1) Balance of Payment

A Hder
2) Fiscal Deficit
1T

3) Current Account Deficit

Te], 1T =1eT

4) Balance of trade

ATUR &I Gl

Correct Answer: Balance of Payment
A T

Candidate Answer: Balance of Payment

A Her™
QID : 278 - Which among the following is one of the important functions of the Lok Sabha (House of People)?

FrfifEa & & 1 91 ek 9T I Geh Ageaqul A gl 87
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tions:
1)pTo select the executive
ST AT HEAT
2) To select the judiciary
T AT HEAT
3) To select the legislature
et a1 ga e
4) None of these
ST

Correct Answer: To select the executive
EF[ g

Candidate Answer: To select the executive
pl AT hAT

QID : 279 - Which part of Indian constitution deals with ‘The union and its territories’?

WRAT TR &l i a1 9T T 3R 3T &' o IR H I 82

Options:

1) Part |

T |

2) Part Il

qrr i

3) Part llI

R iodlll

4) Part IV

T IV

Correct Answer: Part |
T |

Candidate Answer: Part |
AR |

QID : 280 - In which state, ‘The Great Stupa of Sanchi’ located?

ore udar A i o1 Ag WU [T 8?7

Options:

1) Andhra Pradesh
SAY T

2) Madhya Pradesh
A TR

3) Odisha

anfgar

4) Uttar Pradesh
IR e

Correct Answer: Madhya Pradesh
T TR

Candidate Answer: Madhya Pradesh
A TR

QID : 281 -
Match the following.

Trafeag & Fea fifeao)

Term / g Meaning / 319
A. Subas 1. Military Pay Master
Har Afae agenferdy
B. Diwan 2. Provinces
drara urg
C. Bakhshi 3. Financial Officer
aereft o iy
Options:
1) B-1,C-3,A-2
2) A-2,B-3,C-1
3) C-2,B-3,A-1
4)B-2,A-1,C3

Correct Answer: A-2, B-3, C-1
Candidate Answer: A-2, B-3, C-1

QID : 282 - Maps showing cities, towns and villages and different countries and states of the world with their boundaries are called maps.

g, TRY, 1=t awur et ud fay & fAfda 3 g st gur 39 dmrei g e mmEi A AmfRm aga €1
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1) Rt

KEICE]

2) Political

IeTIferR

3) Thematic
frfewm

4) Symbolic

C

Correct Answer: Political

Candidate Answer: Relief
RizIcE)

QID : 283 - The greatest depth is recorded at which place on Earth?

gedt oR R SRTE TR e 3HReh TTevTE aof &l 1T 87

Options:

1) Lake Baikal
FgehTe ghter

2) Kidd Mine

forg @™

3) Mariana Trench

4) Litke Deep
h ST

Correct Answer: Mariana Trench
AT

Candidate Answer: Mariana Trench

QID : 284 - In the heart of man the bicuspid valve is situated between

A4 & ged A fgaerh sure Ragardl

Options:
1) Right ventricle and pulmonary aorta
T e SR oot AgTerTt & s

2) Left auricle and left ventricle

3) Right auricle and right ventricle
Jifeig ofR T fera & g
4) Postcaval and auricle

HIS Fae R feig & =

Correct Answer: Left auricle and left ventricle

g sifele ofk ol fera & ffw

Candidate Answer: Right ventricle and pulmonary aorta
3R TETYF & &

QID : 285 - The basic unit of a vertebrate kidney is the .
Teh TR garh gl e 3aTS 2l

Options:

1) ureter

2) nephron

AR

3) Malpighian tubule

A Aferer

4) Islets of langerhans

Correct Answer: nephron

Candidate Answer: nephron
Eitoc]

QID : 286 - Which one of the following would not limit photosynthesis?

fAfafad & @ S gemer ST ot WA T8 o Tepar 82
Options:

1) Oxygen

ST

2) Carbon dioxide
P SEIHFATS
3) Light

ThIA

4) chlorophyll
FARI TRt

Correct Answer: Oxygen

andidate Answer: Oxygen
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QID : 287 - The sunlight consists of how many colours?

T &y 7 fonae fagam &2
Options:

1) One

Teh

2) Five

i)

3) Seven
ard

4) Eleven
qRE

Correct Answer: Seven
q1d

Candidate Answer: Seven
qrd

QID : 288 - In science, a push or pull is on an object as called what?

g 7 foneft avg oR o aret s (SifSieReur) o =g (sroRyoT) @t T hEd 82

Options:
1) Velocity
el

2) Acceleration
<o

3) Pressure
HE)

4) Force
et

Correct Answer: Force
Ecl

Candidate Answer: Force
EG)

QID : 289 - AMD is associated with which component of computers?

Q. O, . R & g i § T=ifla 82

Options:
1) Keyboard
Frare

2) Mouse

AsY
3) Processors
maad

4) Monitor
AR
Correct Answer: Processors

Candidate Answer: Processors

QID : 290 - Cinnabar is an ore of .

R =g d 3 B

Options:
1) Pb

2) Sn
3)Hg

4) Ag
Correct Answer: Hg
Candidate Answer: Hg

QID : 291 - The real bleaching agent present in bleaching powder is .

forsTer gof & uran s aTer arafaes ks Eare
Options:
1) chlorine

2) oxygen
SRt

3) Calcium oxide

FfRr Slfaarss

4) Chlorine and oxygen both
T SiferfS g

Correct Answer: chlorine

Candidate Answer: Chlorine and oxygen both

FARI qUT SHieRftsr gt

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtdJobsAlert.In

QID : 292 - As a result of green house effect, the average temperature of the earth’'s atmosphere is gradually increasing. This is called .

ERaTE vTa & uRuTmIRY agHed & Sigd au A IR Ifg W@ 815®___ +wd &
Options:
1) Earth warming
gedt JwH
2) Global warming
fay Fw=
3) Greenhouse warming
gRaTE S de-eR JwE
4) Natural warming
fkauc
Correct Answer: Global warming
fag o=
Candidate Answer: Global warming
fay Fw=

QID : 293 - What is the minimum age of joining Atal Pension Yojana?

37ee U AT T S & folg <Aaw Sy a4 872
Options:

1) 18 years

18 91t

2) 21 years

21 911

3) 30 years

30 911

4) 40 years

40 911

Correct Answer: 18 years
18 91t

Candidate Answer: 21 years
21 91t

QID : 294 - Who invented Penicillin?

afafafer v snfaswr foram fasar?

Options:
1) Neils Bohr
BIGSKIN

2) Alexander Fleming

3) Robert A. Millikan
Aee . fAfReT
4) Robert Boyle
NECEIRE]

Correct Answer: Alexander Fleming

Candidate Answer: Alexander Fleming

QID : 295 - Which city will host the 2020 Summer Olympic Games?

I T e 2020 WeHRTAT Siteifiien @ell it Astart Hm?
Options:

1) Japan

ST

2) China

Sic

3) South Korea
afeyor ifar

4) United States of America
Tgh I5T

Correct Answer: Japan
SIa=

Candidate Answer: South Korea

o s

QID : 296 - What is Jantar Mantar?
SR AR T 8?

Options:

1) Acity

T MeR

2) A museum

ek GUGIe

3) An astronomical observatory
ek WA JeRmer

4) A temple

T R

Correct Answer: An astronomical observatory
Tk Gl JYRITeT

Candidate Answer: A museum

ek GUGIeT
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QID : 297 - Who among the following won the Kirti Chakra Award 2017?

foRem T Teh qReR 2017 Sfar 82

Options:

1) Major Rohit Suri

Aor Al

2) Havildar Hangpan Dada
BIGR §TU=T &1t

3) Major Rajat Chandra
AOR o1d 9%

4) Captain Ashutosh Kumar
P SLAY FAR

Correct Answer: Major Rohit Suri
aor Afea gt

Candidate Answer: Major Rohit Suri

Ao Afed g

QID : 298 - Who is the author of the book named ‘Ignited Minds’?

‘FIEES AIESY e fohdTd & wkaeh/ATAhT i §2

Options:
1) A.PJ. Abdul Kalam
Q. it &, aregd HeH

2) Kalpana Chawla
R TTIAT

3) Ellen Page
QA oF

4) Sushma Swaraj

FUAT RIS

Correct Answer: A.P.J. Abdul Kalam
Q. it &, a7egd e

Candidate Answer: A.P.J. Abdul Kalam
Q. it &, arege HeH

QID : 299 - Which country plays an important role in India’s Act East Policy?

IR & IfAf gd Hify & s a 31 Ageagef e A 82

Options:
1) China
EIE]

2) Japan

NICIEE

3) Myanmar

HMHR

4) Bhutan

A=

Correct Answer: Myanmar
HMHR

Candidate Answer: Bhutan

e

QID : 300 - India to Thailand highway passes through which country?

IRA § T3S G154 fohd 327 T By ToRdT 872
Options:

1) Nepal

AuTe

2) Myanmar
AR

3) China
=

4) Pakistan
ifhea

Correct Answer: Myanmar
AR

Candidate Answer: Myanmar
AR
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